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T(n) =T(n-1)+3=(T(n-2)+3)+3=T(n-2)+2x3
=T(n-3)+3x3=T(n-4)+4x3=..
T(h-(n-1))+(n-1)x3=T(@)+(n-1)x3=1+(n-1)x3

T(n)=6(n)
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T(@)=1
T(2)=T()+3=1+3=4
T(3)=T(2)+3=4+3=7
T(4)=T(3)+3=7+3=10
T(5)=T(4)+3=10+3=13
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int fib (int n)

{
if (n<=1)
return n;
else
return fib (n - 1) + fib (n - 2);
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int fib (int n)
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{
intf[0..n], I;
f[0] = O;
if (n > 0)
{
f[1] = 1;
for (i=2; i <=n; i++) N U pge OMex adl>
{ N o |
[i] = f[i-1] + f[i-2]; RO o D
} Sadea )l abgy e
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return f[n]; 3l S 1 ol alox |
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int fib (int n)

{
int f1, f2, f;
f1=0;
f2=1;
if (n==0)
{
return f1;
}
elseif (n==1)
{
return f2;
}
for (i==2;1<=n; i++)
{
f="11+12;
f1=12;
f2="1;
}
retrun f; 39 oo 010,55 ol N alos
}
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int bin (int n, int k)

{
if (k==0||n==Kk)
return 1;
else
return bin (n -1, k-1) + bin (n- 1, k);
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- j=0or j=i
Js sl 31 5,5 b (Jlste j5b a0 B (gl o (15503 drslons L YL 4 oy gy 0 alis iged Sy J>

Jle g g5Llwesly
B a4l
01234 . j k
01
1(1)1
211121
3111331
411/4/6(4]1
. IR
n Folp
:Bl4]2] alne
B[4]2]=B[4-1]2-1]+ B[4 -1]2]= B[3]1]+ B[3[2] =3+ 3=6
B[3]2]= B[3-1]2-1]+ B[3-1]2]= B[2]1]+ B[2]2]=2+1=3
B[2]2]=B[2-1]2-1]+ B[2-1]2]= B[i]1]+ Bi]2]=1+0=1
B[1]2]=B[1-1]2-1]+B[L-1]2]= B[oJa]+ B[0]2]=0+0=0
B[1J2]= B[1-1]1-1]+ B[t-1]1]= B[oJ0] + B[oJ1]=1+0=1
B[2]1]= B[2-1]1-1]+ B[2-1]1]= B[1]o]+ B[]t]=1+1=2
B[31]= B[3-1]1-1]+ B[3-1]a]= B[2]0]+ B[2]1]=1+2=3
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int bin2 (int n, int k) | K lagygiw olaws g N Lo o slows
index i, j;
int B[0..n] [0..k]; al,l sl ygiw dlows )T sl la olaas

for (I=0;1<=n;i++)

for (j = 0; j <= minimum (i, k); j++)

if(G==01j==1)

Bli]l] =1

else

B[il[j]1 =B [i - 1][j - 1] + B[i - 1][j];

return B[n][k];
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